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Quoting >"w; the text reads: With this one and with this one, if there is a
o'W by all, etc.

Overview

The Xn»12 mentions three cases (where one was W7pn a woman with an 1127 19K
1RY); 1. If he said Y9282 °% *w1pni the rule is that nwmpn 8" w 19152 w° ox. 2. If he said
721 721 72 12 WP the rule is NWTIPR 5"MW 12192 w0 OX (the same as in# 1).! 3. Ifhe
said 72 and she ate it, 172 and she ate it, etc. the rule 1s 371 DAR2 RIPW 7V DWTIPH 71K
5"w. Seemingly cases # 1 & 2 are identical; why divide them into two parts. N1901n
cites s""w explanation in the matter.

= 172) 132 NPT NNYIMI TN 5INPT XYY 222 290D 11797 INN)
And the reason the Xin of the Xn»12 divides them into two cases; the first case
where it states (that the man said) Y782, and the middle case where it states 112
172 -

- 5915 19192 W BN 1NN NINT 2) Yy 9N
Even though that in both cases the Xn>72 teaches that the same rule applies,

namely 19192 w° BN, etc. a 5" she is nwnpn. Why did not the 12 combine both cases into
one case that whether he said 12X2 or 721 112 the rule is nwTpn 8" W 12122 w° oR; why divide it into
two separate cases?

"1 responds:
$95TN) WI9127 HNINY NN P2 RNIENA INYY ¥aDT DIUN

Because he wanted to differentiate in the middle case (of 1721 1712), whether she is
eating them as he gives it to her (where the ruling is that nnXa X7w 7v nwTPn 7K
5" 1), or whether she leaves them (where the ruling is nwmpn 5™ 19102 w° OX),
as the Xn>72 continues to explain.

Summary
The difference between n?2 or Nran is only by 1121 113, but not by 1982,

Thinking it over

!'s"» maintains that this is the correct X073 (but not 8" 172 v oX [or 8" 2 NNR2]).

2 However in the w1 (by 17X2 %2 *w7pnn) there is no difference between nN3IX or NNan; in both cases 5™"w 19132 w° OX
nwTpn. Therefore he could not combine 17%2 with 721 112, for even though their rulings are the same by nnin, they are
not the same by n75IX.
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In this m»do01n and in the following two 71"7, M50 1s merely quoting >"w7 without
adding any comments; any idea why?
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